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12 gL (Number Line)
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+0.5, -1, +28, -1, -3, -25, -28

- 0 1 *
2. PIFHE<ES > GRS
a 5 . : e. 0 __ -35
b 5 -8 f. -12 02
c -5 8 g -38 __ -52
q 5 .8 h 25 _ -27

3. AN ﬁ A BT | RN R VRN

Arrange the following numbers in ascending order of magnitude. I AR
(ascending order

of magnitude)

ffl(example)  -4,2,0 -4<0< 2 ] 2 A

a +5,-3,-1

b. +3,-1,0,-10

C. -2,+3,-6,+11,-40

d -9 -96, -98 0, -8, -10
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1 (+4) + (+5) = 2. (+5) + (+2) =
< (,) > < Cl) >
3. FN+(-4= 4. (+8)+(-3) =
< (_i) »> < (_i) »>
5. (-12) + (+9) = 6. (-20) + (+7) =
< .0 > < CI) >
7. (-7)+(+6) = 8. (-6) +(+6) =
< io > < |0 >
9. -D+(-6)= 10. -5 +(-2)=
< ,0 > < .O >
11. 0+ (+5) = 12. (-5 +0=
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7] (+8) +(-3) = 7. (+3) +(-8) =
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1 (+5) + (+4.5)

2 -3)+(-12)

3. -8)+(-7)

4. (-2.5)+ (- 9)

5. (+9) + (- 3)

IS

-9 +(+3)

7. (+6) + (- 19)

8. (-17) + (+5)

0. (-2.8) +(-5.3)

10.  (+3.2)+(-9.6)
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Find the values of the following:

1 (_+6) +(+18) 2 (_ 9) + (- 13)
3, (_+9) +(-8) 4. (;9) +(+8)
5, (_+10) ¥ (-4 6. (_ 12) + (+9)
7 (_ 11) + (- 2.5) 8. (_ 43) +(-25)
9. (_+11) F(7) 10, (_ 12) + (+10)
11, (_+12) +(-75) 12, (_ 10.8) + (+6.3)
13, (_+12) + (+12) 14, (_ 12) + (- 12)
15, (_+12) +(-12) 16, (_ 12) + (+12)
17, (_+25.3) +(-11.2) 18, (_ 25.3) + (+11.2)
19, (_+25.3) + (+11.2) 20, (_ 25.3) + (- 11.2)
21, (+%) i g) 2 (- %) + (+%)
- - \&i&%l
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1 (+6) - (+2) = 2. (+8) - (+7) =
< (I) » < (I) »
3. +8) - (-2) 4, (+12) - (-8)
< io > < (_IJ >
5. (-4) - (+2) 6. (-7) - (+12)
< io > < CI) >
7. (-11) - (-3) 8. (-4)- (-8)
< .O > < ,O >
0. (-1)- (-6) 10.  (-5)- (-2
< IO > < iO »
11.  0- (+4) 12.  0- (-9
< |O » < 6 >
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VIdHHR + (+2) = Jidtdin + a Viddand - (+2 = ittt - a
i - (+5) +(+3)=5+3=8

(+5)- (+9=5- 9=-4
(+6)- (+2)=6-2=4

2 TR Ry IR (N il (- @) Ao a BREEE D)
i S IR » [ T R {BERAYE R B

T + (- 2) =[] - a T - (- 2) = [ + a
f:  (+15)+(-8) = 15-8 =7
(+15)- (-8) = 15+8 = 23
(-9 +(-8 =-9-8 =-17
(-9 -(-8 =-9+8 =-1

RRH()FIR) e SF o YR B 1 T

&1 F /[J |} © (Find the values of the following:)

1. (+) +(-4) + (+2) 2. -2)- (+3)- (-9

3. (-42)+(-21)- (-13 3 1 1
4. (+Z) - (+2§) +(- E)
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Find the values of the following:

1. (+8) + (+2) 2. (-5) + (+3)
3. -8+ (-2 4, (-5)- (-3)
3 (-0.8) +(-0.7) 6. (-8) - (+2)
7. (+8)- (-8) 8, (- 8) + (+8)
0. (+68) - (- 23) 10. (-58) - (+32)
11. (-8) - (+9.9) 12. (-5.2) - (-8.6)

13. (-4.8)- (-8) 3
14, (+3)- (1))

15. (-12)- (-09) - (-7.2) 16. (-4.6)+(-31) - (-9.8) - (+11)

>Good
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1 (+5)+(+5) +(+5) = (+5) (+3) =
2 (4¢3 = (3) () =
3 (5+(5+(5 = (5 () =
a. (HHCH+HEHHCH+EY = () () =
5. (-25)+(-25)+(-25+(-25 = ( ) ( ) =
6. (DD HED+ED ) = () () =
7DD = () () =
8. ()+()+()+( ) = (3) (+4 =
9. ()+()+( ) = (4) (+3 =

AR I PR T SE e BT BN R S

I
10 (+5)" (-3) = -(*H)- (+H- (+H) =
11 +3)" (-2) = -(+3)- (+3) =
12 (+4)" (-2) = -()-() =
13 (+5)" (-4) = -()-()-C)H)-(C) =
14. (-4)"(-2) = -()-(0) =
15 (-5)"(-4) = -C)-C)-C)H-(C) =
6.  (-6) " (-3) = -()-(C)-(C) =
17. (-3)"(-6) = -()-0)-0)-O)-C)-() =
8. (027 (-5) = -()-()-C)-C)-0) =
(el ) = fE U PO
et ] et g " ®H=0)
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1. +9)" (-7) 2. (-25) (-4
3. (932 4 %) (12)
5. (-0.2)(+05)(- 10) 6 . g) . g)
7. (- 47 8. -1)°(-5)

[T E [ REATER o (RIS T BIOEH £

FIIE | Ao el i 3ERTT ) R

1 (+36) , (-4) 2. (-28), (-2
- P
+18 - 45
(+12)(- 25) 3
R 6. (29, (-3)
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Evaluate thefoIIOW| ng:
1. (+6) " (+12) 2, (+3)(- 4)
3. (+12) , (+3) 4, (+48) ., (-3)
5. (-8)" (+5) 6. (-33), (-11
3 1., 1
7. (-8) (- Z) 8. (- E)(_ §)
9. +9(-11)(- 1 10. (+4)(+4)(- 2)
11. +8) (-7) (- §) 12. (+35)(+2)(-7) (- i)
8 49
13. 0, (-23) U @y (- g)
3
(-18) (-34)
15. ) 16. T
2
(22 2.2 ) O
5'-5 5 -5 %\\ ﬂ\ Now!
AEFG AR DE ? Y
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1L -[(¢9- (D]

2 -2-[(+3)- (-9)]

3. -3[(-2-5+(-3(2

S, [6-(-19], (-3)

4. 6-(-15), (-3

6. -4+ (-3 (-1’

Evaluate the following:

1L ®O®+-30)

2. (-4)(-25)- 4(-2)

3 (-2[4- B+7)]

5. -37 (-57

4. (-25)(-3-1)(12- 52)

“@)- 3
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(- 3)(- 24)(+7) , 1
—(_ 18)(+35) 4. (-4- 12 Y
(-2°=(-2) (-2)=4
\ 221 (-2)7
FHET SR
N (10$)(-9) 5 10- 9
(-3)(5) ' -3+5
12- (-8) 12
3. == (-
> 4. ~ 09
3
s (3+D° 6. (Srly
-12 -12
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IChapter Summary |

1. Directed numbers are numbers written with a “+” or “- * sign (%)

2. Numberswith “+” sign are positive (1) numbers. Numbers with a -~ sign are negative( 1)
numbers. Zero (%) is neither positive nor negative.

3. Integers (JFFBZE)@ include zero, the positive integers +1, +2, +3, ..... and the negative integers - 1,
-2,-3, ...

4. Directed numbers can be represented on a number line (By75Y).

\ 4

<&
hl T T T T T T T T T T

2 -1 0 +1 +2 +3 +4 +5 +6 +7

5. For two numbers x and y as shown on the number line below

I X<y (xissmaller than y) ii. y > x (yisgreater than x)

\ 4

<& ! !
bl T T

X y
6. Removal (Zf#) of brackets(ﬁ'% - for addition( %7#) and subtraction(/#)#):

i. Toremovea f(..), thesigninside the brackets are unchanged( /) .

E.Q. -5+ (-4) =-5-4 =-9
-12 + (+5) =-12+5 =-7
(-8)+(-9) =-8-9 =-17
ii. Toremovea -_(_.), the signinside the brackets are reversed(~ #4) .
E.g. -5- (-4 =-5+4 =-1
-12- (+5) =-12-5 =-17
-(-8)+(-9) =+8-9 =-1

7. Rulesof signsfor multiplication(#&#) and division(/##) of directed numbers:
(1) x(+) = + (+) x(-) = - () x(+) = - ()x(-)=+
(GO RN +) _ ) _ ) -

(+) (-) (+) -)

Important Terms (EifolF#£r)
Fill in the corresponding(#fVjfiv) termsin Chinese:

Positive Negative Zero Integer Number Line

Greater than Smaller than Multiplication | Division Addition Subtraction
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[Review Quiz]
1 Circle ('+"1) the greater number in each of the following pairs:
a 1, -2 b. 0, -08 C. -7, -3
d -5 -55 e. 02, 0 f. -3, - %
2. Arrange (4'#p the following numbers on the given number line:
3 « | | | N

+3.5, -2, -05, —
4

3. Arrange the following numbers in descending order of magnitude (&R ~):

-2, 0, - E Z, +2, -1
3 3 > > > > >
4.  Evaluate (F ;1) the following:
a (-2 +(-9) b. -8-(-6) C. (+2.4) - (+6.8)
d (92 e (-6(9 N G )
-7
5. Find the values of the following:

a (-3)(-2+8) b. (-2)(-5) - 4(-3 c -3-2

" 5+(-10)

6.  Thetemperature (k1'% ) of Town A is5°C in the morning. Temperature falls (™ /%) by 12°C at
night. What is the temperature of Town A at night?

The temperature at night =



